Problem 1

Design an RC low pass filter with a cut-off frequency of 8 KHz. You have to use a resistance of 10
KQ.
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Problem 2
Find the Thevenin equivalent circuit with respect to terminal AB
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Figure 1: Circuit for problem 2
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Figure 2 Circuit for problem 2
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Figure 3 Circuit for problem 2
._15"" A
&mﬁﬁ gk%_f‘ égmﬁ \/ﬂ,\—T \’—%ikﬁ
R v 8

\fﬁg ==36V x

JWSis 'Z\n’\u an W LW

g ft AV N vﬂlﬁ-ﬂj vl" {\ gk‘\

\ o A
a1 35«};—3 L
36 KA — \ .

&




fg *}, 5t

cwiuw I L«["”S

T = 12X _‘_f’__
91-\8’ L &,wu-iul
AV S

= 8 Amlﬂ

P % BE
98 L QJ%T

| o-Van

V’ = =
AR =— 72 V = V.
™




Edi V@Uﬁiﬂr\j ¢ H‘

.o ‘["_—&
|




VWA * TAAA VWA
12 kQ) 4 k()
) 2 kQ
4kQ S 316 k()
12V ] I()
>
B
) Figure 5 Circuit for problem 2
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Figure 6 Circuit for problem 2
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Figure 8 Circuit for problem 2
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